Math Physics Final
Winter Quarter 1997

Problem 1

Find the retarded Green's function of the Schrdinger's operator

in a d-dimensional space.

Problem 2

Find the temperature of a rod 0 < x <] with thermally insulated lateral surface if the initial

temperature is everywhere zero, if the temperature at the ends is held at zero, and if a source of

constant strength @ is concentrated at the point x, (where 0 < x, <) in the rod.

o'T
%—%7=%6(x—x0) O<x <1, >0)
T(0,1)=T(L1)=0 | (£>0)
T(x0)=0 O<x<D)

on K=
Use notation Cp ™ K.
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